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Directions: Choose the word or phrase (1), (2) , (3) , or (4) that best completes
each sentence. Then mark the answer on your answer sheet.
51. "Do you want to play tennis today?"

"No, | don't have ............... time to play."
1) so 2) too 3) such 4) enough
52. Scientists used the best telescope .....cccocvevveerrnnennee. They could observe other
objects in the space.
1) so that 2) because 3) whereas 4) in order to
53. Icanstill remember the story ................. it was so long ago.
1) when 2) whether 3) since 4) even though
54. Goods........... in automated factories are cheaper.
1) manufacture 2) manufactured
3) manufacturing 4) are manufacturing

55. "lI'wonder why Ali didn't say hello."
"He e you come in."

1) should not see 2) might not see
3) should have seen 4) might not have seen
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56. Someone who is good at sport and takes part in sports competitions is called

a/an ...
1) partner 2) swimmer 3) athlete 4) winner
57. Computers can control the ..................... Of all spacecrafts through space.
1) orbiting 2) inventing 3) attracting 4) stretching
58. Several species of monkeys are in danger of .........c.ccoeeee.
1) mystery 2) extinction 3) exploration 4) hardship
59. We have enhanced the quality of the picture. "Enhance" means: .............
1) instruct 2) produce 3) improve 4) distract
60. Itwasvery.......... to have so little control over my life.
1) surprising 2) normal 3) probable 4) economical
61. They discussed the ............. Of building so near so near to the airport.
1) connection 2) advisability 3) involvement 4) invention
62. Mr. Alavi has a big farm, he usually ............ many laborers to work on his farm.
1) devotes 2) catches 3) hires 4) shares
63. The government needs a more .......ccccovueueeee. Approach education.
1) flexible 2) physical 3) fashionable 4) emotional
64. This hotel is ......... comfortable, so we will stay at it.
1) continuosly 2) powerfully 3) wonderfully 4) scientifically
65. Barbara ............. The TV because she was tired of listening to the news.
1) searched for 2) turned off 3) gave back 4) took away

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

The science of space exploration is called astronautics. Space travelers themselves
are know as astronauts, 66) ...........cc...... the Russians call them cosmonauts. The 67)
..................... load or payload lifted into space by the launch 68) ................ is the
spacecraft.

Spacecraft with human passengers 69) ........... instrument and radio equipments. The
passenger cabin is called a capsule or module. The spacecraft 70) ............... in space
are said to dock. A reusable manned spacecraft is called a shuttle.

66.

1) when 2) because 3) whether 4) although
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67.

1) useful 2) colorful 3) painful 4) central
68.

1) robot 2) vehicle 3) organ 4) device
69.

1) carry 2) continue 3) employ 4) produce
70.

1) involving 2) including 3) holding 4) joining

Directions: Read the following passage and answer the questions by choosing the
best choice (1), (2) , (3) , or (4). Then mark the correct choice on your answer
sheet.
Association football, commonly called soccer, is the most popular game in Europe
and south America and is also widely played throughout the rest of the world. Most
countries belong to the international organization that governs the sport, the Fe'de'
ration Internationale de football association (FIFA).
When the game began is not really known; something like it was certainly played in
Roman times and during the Middle Ages, but this early form of the game was so
rough that it was banned by seven kings. It was not until the latter part of the 19th
century that it began to take its present form in schools in Great Britain. Even the
there was a wide variety of rules. Where open fields were available, a greater
number of players was permitted, and so was "handling and kicking". Finally in 1863
the football association (FA) was founded in order to decide on a standard se of
rules. The point on which most people disagreed was over the right of "hacking", or
kicking wildly to obtain the ball, and when this was forbidden it brought about the
final parting of the ways between soccer and rugby football which up until then had
considered themselves variations of the same game.
71. The passage is mainly about" .................. "
1) the countries that govern the football games.
2) the most widely played game throughout the world.
3) the Federation of International football Association.
4) the most popular game in Europe and South America.

72. Which statement is Not True according to the passage?
1) Romans played it during the Middle Ages.
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73.

74.

75.

2) The Association Football is called soccer.
3) The early form of the game was banned by seven kings.
4) Everybody knows the game was certainly started.

The word "ban" in the second paragraph is closest in meaning to .................
1) deny 2) force 3) forbid 4) control

The present form of football British schools was taken ................
1) before the 19th century

2) after the 19th century

3) in the second half of the 19th century

4) in the first half of the 19th century

According to the passage, the Football Association was established in order

1) how to handle and kick the ball.

2) to decide on a standard set of rules.

3) to find open fields for a greater number of players.

4) to find the difference between succer and regby football.
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A key distinction made by the majority of knowledge management practitioners is Nonaka’s
reformulation of Polanyi's distinction between tacit and explicit knowledge . The former is often
subconscious , internalized , and the individual may or may not be aware of what he or she knows
and how he or she accomplishes particular results . At the opposite end of the spectrum is
conscious or explicit knowledge - knowledge that the individual holss exolicitly and consciously in
mental focus , and may communicate to others .In the popular of the distinction , tacit knowledge
is what is in our heads , and explicit knowledge is we have codified . Nonaka and Takeuchi (1995 )
argued that a successful KM program to , on the one hand, convert internalized tacid knowledge
in to explicit codified knowledge in order to share it , but also on the other hand for individuals
and groups to internalize and make personally meaningful codified knowledge once it is retrieved
from the system .KM system. the focus upon codification and management of explicit knowledge
has allowed knowledge management practitioners to appropriate prior work in information
management, leading to the frequent accusation that knowledge management is simply a
repackagedform of information management. Critics have however argued that Nonaka and
Takeuchi’s distinction between tacit and explicit knowledge is oversimplified , and even that the
notion of explicit knowledge is self — contradictory . A third kind of knowledge is embedded
knowledge . Embedded knowledge is a knowledge that is embedded in a physical object put not in
an explicit way , that is , it requires other knowledge to be extracted . For example , the shape and
characteristies of an unknown device contain the key elements tounderstand how that device can

be used .
131. The word “appropriate” in line 13 is closest in meaning to the verb .........
1) “attach “ 2) "create “ 3) "function “ 4) "restrict “

132. Which of the following is TRUE according to the passage ?
1) A physical object is often embedded in the knowledge about some subject .
2) An unknown device may contain key elements that help us understand a bout its use .
3) Embedded knowledge is the same as explicit knowledge as they both deal with objects .
4) In tacit knowledge , the person might not be conscious of how he is able to get to results .

133. We understand from the passage that ........... .
1) Information management is mainly focused on repackaging codification .
2) Knowledge management and information management are closely related .
3) Explicit knowledge leads to the retrieval of knowledge from information systems .
4) The notion of explicit knowledge contradicts itself because it is oversimplified .

134. The passage suggests that ......... .
1) Individuals often retrieve the information they need through tacit knowledge .
2) Internalized knowledge is almost always converted in to a subconscious form .
3) Explicit knowledge is, in fact , the codification of what we have internalized .
4) Tacit and explicit knowledge are interdependent in a successful KMprogram.
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135. It is stated in the passage that .................... .
1) Explicit knowledge has the abilityto be transferred to others .
2) Management practitioners generally prefer explicit to passive knowledge .
3) The main difference between tacid and explicit knowledge is the degree of mental focus .
4) Nomaka's distinction between tacit and explicit knowledge isreformulated by Polanyi .
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A savings account should be viewed as an investment that will be added to regularly and obtain
interest . Another objective of a savings fund can be laving aside sufficient amount of money for
some specific purpose , such as buying an automobile or a home . After a person has established a
savings program he shoud not hesitate in carrying it out . If a certain amount is to be set asid for a
specific savings fund this amount should be taken out of the income first and the remainder
should be used for other purpose. Parents who have children whom they plan to send to college
should employ a definite savings plan so as to be sure that there will be an adequate amount
available at the time the children are ready for college . If a small a mount is saved each year for
the definite purpose of an education , the burden of financing the college education will be grealy
reduced .

161. the main idea of the passage is .......... .
1) To highlight the importance of setting goals for savings .
2) To emphasize the importance of education .

3) To recommend a certain savings plan .
4) To recommend a certain amount for saving fund .

162. Based on the passage , which of the following statements is correct ?
1) People who have saved enough money avoid financing .
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2) Parents who have saved for the purpose of an education will definitely avoid financing the
college education .

3) Financing college education by parents could be avoided by an early savings plan which
has been carried out .

4) Parents are recommended to finance college education .

163. In line 2, the word “obtain “ is applied to convey the meaning of ....................
1) Deposit 2) gain 3) increase 4) take

164. laying aside in line 2 is closest in meaning to .......ccccoeueene..
1) Laying out 2) laying away 3) laying over 4) none

165. “Setasid” in line 4 is closest in meaning to ........ccceceeevevveennees
1) Set down 2) set forth 3) set off 4) none
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Most generally , employment is the process of devoting human time and energy to
production. It is the labour input to the economy , the performance and
organization of work by people in an economic system . In economics the term is
normally used in a restricted sense, to describe the creation of goods and services
that fall within whatever convention is in define the National product . Economists
conventionally exclude unpaid domestic or voluntary services and remunerated
activities such as crime , gambling or prostitution which considered “productive . “
The term employment , strictly speaking , derives from the capitalist and wage —
labour of production . On a narrower definition , it refers to the contractual
arrangements bring workers together with materials and equipment which are not
their own property . the term is extended by analogy to other modes of production
to cover self — ment people working in collective enterprises and — at a stretch —
family — based production and other pre — capitalist institutions like sharecropping .
The corollary of employment being a productive activity is that it entitles the
performer to income — wages in the capitalist mode . Sen (1975 ) draws attention to
these production and income aspects of the notion of employment , to which he
adds a third perpective , that it entitles the worker to recognition , or self — and
social — esteem , as doing something worthwhile . there is thus a threefold cause for
concern if an economy is deemed to have an “employment problem “ : production is
unnecessarily low , some incomes are unneccessarily low and some people may be
deprived of the recognition , or status, that employment would give them .

191. Employment is the process of ........ human time and energy to production .

1) Applying 2) allocating 3) assigning 4) reserving
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192.

193.

194.

195.

Economists do not regard certain ........... deeds as .......cceuue..
1) unpaid , productive 2) paid, unfruitful
3) Remunerated , unfruitful 4) paid and unpaid , productive

Employment, in a narrow sense , refers to a situation in which .....................
1) people work in collective enterprises .

2) family members work with what belongs to them .

3) workers work together with equipment which belongs to them .

4) Workers work together with materials which do not belong to them .

Employment will give the worker .............. if it s
1) wages , inventive 2) self — esteem , vigorous
3) income, constructive 4) social — esteem, fabricative

An economy has no problem if ............. .
1) production is low

2) income are low

3) workers enjoy self — esteem

4) people are deprived of the recognition
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EquiValent Equations

Two equations with variable and said to be equivalent if they have the same domains of definition
and the same solution sets . Otherwise the equations are called inequivalent .

The equations 4a+2=10 and 6x=12 are equivalent relative to the set R of the real numbers ,
because the solution set of each consists of the number 2 only . The equations a’=9 and x>=27 are
inequivalent relativeto the set Z of integers because the solution set of the first equation consist of
+3 that of the second +3 only. However, relative to the set N or thre natural numbers these
equations are equivalent , for then the solution set of each consist of the number 3 only .

In transformations of equation with variables one distinguishes between equivalent and
inequivalent transformations . If an equation is transferred so that the resulting equation (2) is
resulting to (1) , then one says that (2) arises from (1) by an equivalent transformation .

If S1 and S2 ar the solution sets of the equations (1) and (2) , then an equivalent transformation is
therefore characterized by the fact that S1 = S2 . Inall other cases the transformation is said to be
inequivalent . This is so , in particular , when S1cS2 , that is , when the transformation has led to
additional solutions , or when S12S2 , that is , when solutions have got lost in the transformation .
In the case S1cS2 those solutions of the equation (2) that are not solutions of the equation (1) can
be sorted out by a check in (1) .

Transformations leading to a loss of solutions can occur , for example on dividing an equation by
an expression containing a variable or by extracting a root frome the equation . If in the solution of
the equation one performs inequivalent transformations , then additional investigations are
required to determine the solutions that may have got lost or those that are not solutions of the
original equation. Such complications can be avoided if only equivalent transformations are
performed . There fore it is very important to know what transformations of an equation are
equivalent . The following theorems , in which the domain of definition is R, give some relevant
indications .
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226.

227.

228.

229.

230.

Extracting a rootfrom an equation makes the transformation result in ............

1) An equivalent expression 2) determining allthe solutions
3) the of solutions 4) a proper equation

the solution sets of two equations arising from two transformations of an

guation may not be the same ...............

1) If the two transformations are not equivalent .

2) Even if the two transformations are equivalent .

3) If a division or a square root is used in the two transformations .
4) If the two transformations are not applicable .

Equivalent transformation is referred to ........... equations .
1) Different inequivalent 2) different
3) equivalent and inquivalent 4) similar

Two equations with variables on the same domains of definitions

inequivalent if they have ......

1) At most one solution not in common
2) at least one solution in common

3) at most one solution in common

4) at least one solution not in common.

The equations a°=9 and x’=27 are equivalent ..............
1) relative to the set of integers

2) relative to the set of natural numbers

3) because they have a solution +3

4) relative to the set of real numbers

are
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